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e | xEmS we | DER BER 85 | wtems | meme | UONR | FOMR | RIS | ONE | mmxs | supR | REmeER | 2sEp
1 102132520001714 | =& | 125100 ITREE 65.30 182 14450 Efmstl E£BH x &
2 104252540000520 | %F# | 125100 TrRER 65.16 170 155.82 1l B RS IR 75 ANERERE 80 E [ 3k LB x =
3 100362111102844 | &&# | 125100 ITREE 64.60 174 149.00 Emetl E£BH x &
4 104222510100914 | =84 | 125100 ITiEE 64.59 179 143.96 E [a kA LB x =
5 104222510903085 | E#H{Y | 125100 IREE 66.00 172 158.00 Eetl E£BH x &
6 104222510903049 | ¥Z % | 125100 ITiEE 65.13 179 146.63 E A LB x =
7 107302121010378 | =87 | 125100 ITRElE 66.32 173 158.62 ZEEmd =B x &
8 104452202204421 | BE | 125100 THEE 77.76 228 160.80 Il AR B TR 76 ANBRER 75 E [E] 3k Ela==F % &
9 104252540007282 | SR | 125100 ITRHEE 65.75 173 155.73 Efetl E£BH x &
10 | 102132520001623 | ;&%HE | 125100 TrRER 66.80 191 143.00 R E TR 78 ANERERE 68 E [ mk LB x %
11 | 104462123401672 | f£# | 125100 ITREE 68.85 178 166.26 Emetl E£BH x &
12 100082250011765 | £ | 125100 ITiEE 67.00 191 144.00 E [a kA Ela==F x =
13 | 104222510901866 | F=E | 125100 ITREE 65.80 173 156.01 EfEstl E£BH x &
14 102132520001816 | E&EH | 125100 THERE 69.90 189 160.50 EEFE A 2 HH x =
15 104222510901836 | EFKEL | 125100 IRERE 66.81 191 143.05 E LB x =
16 | 104222510902126 | EZ4 | 125100 ITRER 65.59 173 154.96 E [k LB x %
17 | 102132520001697 | E—M8 | 125100 ITREE 65.80 178 151.00 Emetl E£BH x &
18 | 100552399984034 | #&F & | 125100 ITREE 65.20 181 145.00 EEFtl =] x &
19 102402125100364 | FEH | 125100 TrREE 71.48 197 160.40 E R LB x =
20 | 106142125219993 | EAE | 125100 TrRER 68.60 179 164.00 EEEl ELHH x =
21 | 104232375200229 | KB | 125100 ITREE 65.02 170 155.08 Eetl E£BH x &
22 104262000001941 | 3 | 125100 TrRERE 65.66 172 156.28 E A 2B x =
23 102132520001764 | #X#HW | 125100 ITHEE 69.59 187 160.95 EEi E£BH I S
24 | 102132520001998 | REH | 125100 TRER 65.07 178 147.34 E [E] 3k LB x %=
25 | 104232370710748 | 48753 | 125100 ITRHEE 66.01 171 159.07 Efmstl E£BH x &
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